
1 2 3 4 5 6 7 8 9 10 11 12

1 दधू मे गाय 75 0 6 81 0 0 6 0 0 75

2 शुçक गाय 39 0 6 45 0 0 6 0 0 39

3 Ĥͧश¢ण हेतु 15 0 0 15 0 0 0 0 0 15

4 औसर 156 0 8 164 0 0 0 0 0 164

5 मादा बÍचे 59 5 0 64 0 0 8 0 0 56

6 सांड बछड़े 6 0 0 6 0 0 0 0 0 6

7 नर बÍचे 35 2 0 37 0 0 0 0 0 37

385 7 20 412 0 0 20 0 0 392

1 दधू मे गाय 4 0 0 4 0 0 0 0 0 4
2 शुçक गाय 1 0 0 1 0 0 0 0 0 1
3 औसर 9 0 0 9 0 0 0 0 0 9
4 मादा बÍचे 0 0 0 0 0 0 0 0 0 0
5 नर बÍचे 2 0 0 2 0 0 0 0 0 2
6 सांड बछड़े 0 0 0 0 0 0 0 0 0 0

16 0 0 16 0 0 0 0 0 16

दधू मे गाय 10 0 5 15 0 0 0 0 0 15
शुçक गाय 19 0 0 19 0 0 3 0 0 16
औसर 20 0 1 21 0 0 0 0 0 21
मादा बÍचे 10 4 0 14 0 0 2 0 0 12
नर बÍचे 3 0 0 3 0 0 1 0 0 2
सांड बछड़े 4 0 0 4 0 0 0 0 0 4

66 4 6 76 0 0 6 0 0 70

दधू मे गाय 1 0 0 1 0 0 0 0 0 1
शुçक गाय 0 0 0 0 0 0 0 0 0 0
औसर 19 0 0 19 0 0 0 0 0 19
मादा बÍचे 1 0 0 1 0 0 0 0 0 1
नर बÍचे 0 0 0 0 0 0 0 0 0 0
सांड बछड़े 0 0 0 0 0 0 0 0 0 0

21 0 0 21 0 0 0 0 0 21

488 11 26 525 0 0 26 0 0 499

1  गाय 16 0 0 16 0 0 0 0 0 16
2 सांड @cSy 100 0 0 100 0 0 0 0 0 100

116 0 0 116 0 0 0 0 0 116

1  गाय 6 0 0 6 0 0 0 0 0 6
2 सांड @cSy 12 0 0 12 0 0 0 0 0 12

18 0 0 18 0 0 0 0 0 18

1 गाय 0 0 0 0 0 0 0 0 0 0
134 0 0 134 0 0 0 0 0 134

622 11 26 659 0 0 26 0 0 633
* TWH - TRANSFER WITHIN THE HERD.
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